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. Integrate the function f(x,y) = xIny over the region [—1,2] x [1,2].

. Find the volume below the elliptical paraboloid z = 16—x?—y? and over [0, 2] x [0, 2].
. Evaluate the integral [ [, zye™’ drdy where R = [0,2] x [0,1].

. Let R=10,1] x [0,1] and let

0, x and y are both rational
fla,y) = .
1,  otherwise.

Show that f is not integrable over R. Hint: Consider an arbitrary partition P given
by the subrectangles Ry, Ra, ..., Rk, ..., R, of R and consider two different classes of
points (T, yx) € Ry and (2}, y,) € Ry that give two distinct
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1. Integrate the function f(z,y) = xIny over the region [— 1,2].
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2. Find the volume below the elliptical paraboloid z = 16—x?—y? and over [0, 2] x [0, 2].
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4. Let R =0,1] x [0,1] and let

0, x and y are both rational
fla,y) = .
1,  otherwise.

Show that f is not integrable over R. Hint: Consider an arbitrary partition P given
by the subrectangles Ry, Ra, ..., Rk, ..., R, of R and consider two different classes of
points (T, yx) € Ry and (2}, y,) € Ry that give two distinct Ré
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